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2011 Paper 3 SECTION A

2 (a) R, =2kQ
V=37V

(b) Input impedance = 1MQ
Output impedance = 11.1kQ
Gain=-111.1

(©) Rioup =11.1kQ2

(d) € =36nF

3 (a) P, =2355W
Vv =25120
(b) Prin=1.701 kW

4(b) R, =1352Q
X, =457.5Q

Turns Ratio=2

R, =1.390Q
X, =821Q

5@ Vi =Voo =V
1 2

R’ﬂ'i == R]Rz
R +R,

(b) 7 =20.26£80.254

Ic =28.654



PART A
Short Answers Paper3 - Zo{|

Section B

6.a) F=B.C.D + AD + B.D
c)F=B.C.D+ AD +B.D+AB.C
7. a) 2 bistables
c)Ja=Qs,s=1Kas =Qg,Ky=1
8a)i)00,7F, 1,1, 1

ii) FF, 7F,0,0,0

b) 900 ns

9 a)
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Section C
10 b) 0.031 m
11a)3.147

b)13T

2
% 3
12 a)i) 37PoR

poR? P Lo T
iy [6esr "fin-‘-re”aﬂ)"
b) i) 1.4 pF

i) 0.31 nC



